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4.4: Matching Linear Equations and Graphs

Exercise 1: The 3 graphs below have these equations, but the graphs are not in order:

To match each equation with its graph, use the equation to determine the coordinates of 2 points.

y=3x+3 x+y=3 = 3x—3
Graph A Graph B Graph C
¥ ¥ / I
8 6 2.3 11/
/-4 DH /
L= 4 |I'r v 4 L= "f g\,
A o & \h
0,3 ) /N - ;
] ’. PN % iy X 4 J’r \
i VN 4)) _ D f f ”t 0!" _ ‘x’
X A T =
5 [0 ) 6 E;_( yi
) Q00 A\ / X
= _JF r4d 7 _J! 0 :3
A S J"I 2
la, VAN
XY ES / ]

Then find which graph passes through those 2 points.
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Exercise 2: Which graph on this grid has the equation y = 3x — 4?
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